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QUESTION 1

What technology allows for the network to simulate actual wired connections for TDM or ATM backhaul?
A. SONET

B. SyncE

C. IPSEC

D. Pseudowire

Correct Answer: D

QUESTION 2

Which three options can be considered a type of small cell (Choose three.)
A. Microcell

B. Femtocell

C. Micro

D. Pico

E. Picocell

F. Dendriticcell

Correct Answer:. ABE

QUESTION 3

What is the primary reason for assigning role-based communities to routes advertised by different nodes?
A. Perform policy based routing

B. Prevent routing loops

C. Reduce complexity

D. Route filtering

Correct Answer: D

Reference:
https://www.cisco.com/c/dam/en/us/td/docs/solutions/Enterprise/Mobility/EPN/4_O/EPN_4_System_Concept_Guide.pdf
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QUESTION 4

What can PTP be used to synchronize?
A. Time, frequency, phase

B. Rate

C. Phase, time

D. Frequency

Correct Answer: A

QUESTION 5

SyncE clocking is provided at what OSI layer?
A. Layer 3

B. Layer 2 and 3

C. Layer 1

D. Layer 2

Correct Answer: C

QUESTION 6

Which technology is a mechanism that emulates point-to-point connection over a packet switched network?
A.LFA FRR

B. SyncE

C. PWE3

D. TDM

Correct Answer: C

QUESTION 7

Which three clock types can an ASR920 router be configured as? (Choose three.)
A. Boundary clock

B. Clock

C. Ordinary clock
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D. Regular clock
E. Transparent clock
F. Ordinary, Regular

Correct Answer: ACE

QUESTION 8

In a Cisco Unified MPLS for IP MBH network architecture the route scale is managed by the IGP route redistribution is?
A. not distributed access IGP route to the Core

B. redistributed access IGP route to the Core

C. by using different IGP routing protocol between the Access and the Core

D. doing some route summarization false

Correct Answer: A

QUESTION 9

What command is used to insert the core node area border router into the data path?
A. update-source loopbackO

B. set path-selection backup 1 install

C. next-hop-self

D. insert-data-path

Correct Answer: C

QUESTION 10

What is frequency, phase, and time of day synchronization in mobile architecture?
A. is natively supported in IPv6

B. is a key requirement for the radio equipment

C. is not important

D. was only required for legacy

Correct Answer: B
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QUESTION 11

What does virtualization of the core route reflectors do?
A. limit the availability

B. does not enhance resiliency

C. enhance resiliency or availability

D. adds complexity

Correct Answer: C

QUESTION 12

In a Unified MPLS for IP MBH context, what are pre-aggregation nodes?
A. are route reflector clients of the Core Route reflector

B. are route reflector clients of the core node ASBR

C. are route reflector clients of the core node ABR

D. are all route reflector

Correct Answer: C

QUESTION 13

If you partitioned the aggregation and RAN network layers into independent and insolated IGP domains, what will it do?
A. Cross domain communication will be impossible

B. The Core IGP will not scale

C. it will increase the routing complexity and routing table

D. it will reduce the size of the routing and forwarding tables in the RAN layer

Correct Answer: D

QUESTION 14

Which two commands can you issue on an ASR920 router to view the status of a pseudowire? (Choose two.)
A. show pw all

B. show pw and xconnect

C. show pw all detail
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D. show xconnect all detail
E. show xconnect all

Correct Answer: DE

QUESTION 15

When configuring SAToP what must the framing be configured as?
A. Framed

B. Native

C. Structured

D. Unframed

Correct Answer: B
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